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Fel | HETR4 | IBTRETR 44 P I R E AR IX 5y EFEL | B % FE 0% e
ON. K Fi(a) TE¥E%7E(a) Ki(a) B3 () it (a) fEFF(a) =(85) JR (55 f B E) (a) HO) 72132 (a) ZDfth
01 | Af Lk 5 |[HT i 1) 001 KA 180
002 KRg + &0 140 20
003 KFG + R HLE S 140 10
004 KEE + ERAR 140 30
005 KFEG + B4k 150 25(JE)
006 KFg + W4 160 30
007 KT+ B 160 20
008 KfE + EK 160 60
TS e 18 51] 009 IKFil 189
010 KHE + ke 130 56
011 KA+ R 3 130 56
012 KFE + 1B 130 56
013 KEg + HEE 189 5,000
014 KFg + WA 189 45
015 KFG + #K 189 100
sk 016 K+ BERT s
A H A A 1 51) 017 IKF 200
018 KEE + ik B 130 10
019 KFg + WHA 130 20
020 KFG + Femst 130 20(fit)
021 KRG + 7213z 130 20
022 KFG + BH 130 20BF( T R)
023 K 30(REK)
HEL AR 024 KA + R 750 250
LAk HT e 1 51) 025 KHG + 1R 60 100
026 KFg + HEE 60 20EF( N R)
027 VI T T S 60 8(/ 7 A)
028 AKFE + Gt 60 5(=Y)
EaEki 029 KiEg + K& - -
ki e 1 51) 030 KA 132
031 KFg + BIfE 100 10(=Y)
032 KFG + 3 100 20
033 KFG + HiEx 3 100 10
034 KFg + WHAS 80 15
035 KA+ 7212z 100 15
036 K+ HEE 90 2,000
037 THEFE + haak B 132
KRR 038 KFG + 3 2,000 50

1/65




GIE 3 W~ S v

5| TR 4 | IATRTA 4 X Ik R AR Xy eFEH | & o TR Fa
N) 7K Fiti(a) 1E¥7E(a) Kii(a) #73%(a) Rt (a) fE77(a) A(8R) IR (5H) EREHEY)(a) HOR) 72Tz (a) Z A

02 | BAJIAY £ {531 001 KA E— 1,600

002 KFE + R X) 1,200 100(72%)

003 KA+ #E (R T2 ED) 1,200 150(2 72 %)

004 KfE + =V 1,200 50(=Y)

005 KfE + #IK 1,000 50

006 KFG + AHA 900 50

FiEki 007 KfE + K 3,300 1,200

008 KiE + K+ hg 3,200 1,200 100(22F)

009 KiE + K& + b=b 3,300 1,200 8(h~1)

010 KFE + = 3,300 103(=Y)

011 e + i 3,300 800(Z 1)
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BIFR1 FEUEE TS
5| TR 4 | IATATRTR 4 DBk RE AKX 5y EFEHEL | F Y= Ei ok L
(N) KT (a) TE¥E%7E(a) KE(a) 73 (a) bt (a) {E7(a) 4=(58) JR (55 R EHEY) (a) HO) 72122 (a) ZDfth
03 | Fr¥eH T B H &) 001 YN 580
i /A 1) 002 YN 320
FATH 1) 003 YN 450
K& 1) 004 IKF 1,000
TRE 1) 005 IKF 100
IR 1) 006 YN 390
A 1 51) 007 IKF 390
hnig 1 51) 008 IR 460
e K fi# 51) 009 N 590
LR (] &) 010 AKF 540
BREF {51 011 KT 440 P
yIEL 5] 012 YN 620 ;7:5
% i 013 AR 580 g
ERR/N % 014 PN 320 li
FATH FiEkii 015 R 450 o)
P S R 016 PN 1,000 ?:
TRAY fikiid 017 7K Fi 100 i
JIH AR 018 PN 390 1=
o » > %
B pikid 019 IR A 390 1
i Sl 020 A 160 g
Pk K HE 021 7K Fi 590 —
T ik 022 N 540 J%
REF HLik 023 K 440 é'_
il 14 024 A 620 Y
T {5 025 KR+ B 580 PO %
027 KFE + B 580 JE 41156 = kA1 0a El
029 JKFG 4 PR 580 LA 1188 = kA 10a
030 KFE + EK 580 TEIRHEL 536 =KFF 10a
st
st
033 A A 4 580 JBT 1. 186 = K Efi 10a
i
035 Fi& f 580 FELAE 1L 158 = AR 10a
036 K 580 TENRIE L. 558 = /K Fi 10a
A {51 037 KA+ B 320 ke
038 KFE + e 320 P
039 KFE + WA 320 JE# 4 1. 158 = ki1 0a
I+ 165
041 KRR+ 320 FFLA- 1. 158 = K 10a
042 KFE + #K 320 FRRR 1550 = K 10a
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BIFE1 EEYEmE
| TR | IHTRTR 4 X R X 5y TEFEE | F T R FE A R B
(N) KT (a) VEEFE(a) KE(a) 353 (a) St (a) 1EF7(a) 4-(5H) oK (BH) B EHEY(a) HR) 7213Z(a) sl
CHT%& H ) (T2 85) CEED) 043 ER 320 B2 =K fii 10a
Mag%0.4=/KFi10a
044 w3 290 FHh1.4=/KFE10a
Mag%0.4=/KFi10a
045 A H 4 320 HE%5 41,188 = /K 10a
046 fEx 320 2.1 =7KFG10a
Mi%0.4=7KF%10a
Hh
047 W fi: 320 L1 186 = K AG10a
048 E- 373 320 TRIRIEL 55 = /KR 10a
*ﬁ{ﬁ {IE}DJU 049 7k*@| + E”;z 450 1. 4=/KFE10a
HiF%0.4=7kf%10a
050 7k*@| + %*ﬁ 450 FZHh1.2=7KFE10a
Miz%0.4=7KF%10a
051 KfG + A4 450 A5 41188 = KR 10a
052 KFg + fEx 450 BEHI2.1 =7k FG10a
MaF%0.4=/KFi10a
YA Hh
053 N Tl U 450 PRELAFL 15 = K 10a
054 KFE + BK 450 FEIRIE 1555 — K L0a
055 %Eﬂ. 450 ﬁ?éﬂﬂlZ:ﬂ@n/a’lOa
Jiti7%0.4=7kf%10a
T 450 Hi720.4= K 10a
057 A 450 M 41 18= A 10a
058 X 450 FEH2. 1 =7kFE10a
Ji7%0.4=7kFg10a
059 i fE: 450 g2 1L 18 = KFR 10a
060 373 450 HR ML 55 = KA L0a
K fiE31 061 KiE + B 1,000 BABLA KO0
> Fiz%0.4=7kFG10a
062 7}(1}[’&1 + st 1,000 FEH1.2=7KkFE10a
Fiz%0.4=7KkFG10a
063 KFE + WAL 1,000 JE 41,188 = ki 10a
064 KA + B 1,000 2.1 = KR 10a
Ji7%0.4=7kFg10a
065 KFG + BEE 1,000 AL 18 = kG 10a
066 KFiG + #IK 1,000 FRIRHEL 55 = AR 10a
’ Ji7%0.4=7kFg10a
> Ji7%0.4=7kFg10a
069 A A4 1,000 AR 21 19 = 7k G 10a
070 Ex 1,000 BH2.1=/KFfG10a
JiF%0.4=/KF%10a
EH,
071 T fe 1,000 AL L5 = K 10a
072 E-J173 1,000 HERRIMEL. 556 =k i 10a
HRA fiE 31 073 AR+ B 100 BABLA= K100
Ji%0.4=/KF%10a
074 KAG + Hmt 100 BEHL.2 = ACfi10a
E7%0.4=7KF§10a
075 ARG+ A 100 BEFF 115 =K 10
076 7k*l,|¥| + ?Eﬂcg 100 2. 1=/KFE10a
JiF%0.4=/KFH10a
7 EH,
077 KRG + BEE 100 AL 15 = KA 10a
078 KHE + #IK 100 FRIR 1558 = ki 10a
079 B8 100 Fihl.2=7KkFH10a
Miz%0.4=7kFE10a
080 [i3d 100 B4 =K1 0a
Miz%0.4=7kFE10a
081 A A 4 100 B 41,188 = ki 10a
082 f‘ﬂc’( 100 2. 1=/KFE10a
Miz%0.4=7kFE10a
pH,
083 i g= 100 FREL2F1. 188 = /KR 10a
084 K 100 FERIE L 558 = /KR 10a
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BIFE1 EEYEmE
| TR | IHTRTR 4 X R X 5y TEFEE | F T R FE A R e
(N) KT (a) VEEFE(a) KE(a) 353 (a) St (a) 1EF7(a) A=(8H) oK (BH) B EHEY(a) HR) 7213Z(a) sl
€3 Ni) JIIsR 11E31] 085 AR + B3 390 BRA1.4=/KFi10a
Mi70.4=7KFg10a
086 7K*EI + %Fﬁ 390 FZh1.2=7KFE10a
Mag%0.4=/KFi10a
087 KFg + WAL 390 B 21188 = ki 10a
088 7K*I/E’l + TE% 390 2. 1=7KFE10a
Mag%0.4=/KFi10a
YA Hh
089 KFE + B 390 R 5L2F1. 158 = KR 10a
090 KFE + =R 390 R HEL 536 = K FF10a
091 %*ﬁ 390 %fﬂ12:7k$li/§10a
HiF%0.4=7Kkf&E10a
092 i 2 FHi1.4=7KHE10a
TR 390 15720.4 = KF 10a
093 A A4 390 B 41 18 = kG 10a
094 & 390 B 2.1 =7k 10a
Mi7%0.4=7KFg10a
Hh
095 & 390 PCFLAE 1180 =K 10a
096 £3173 390 IR 558 = /KA 10a
ELN () 097 KFE + B3 390 BH1.4=7KkFG10a
i 7%0.4=7KFE10a
098 KR+ R 390 B2 = Kfii10a
Jiti7%0.4=7kf%E10a
099 KRG + WAL 390 JEA 41 18 = kG 10a
100 G+ fEx 390 B2 1= KfiE10a
Ji7%0.4=7kFg10a
101 KFG + BEE 390 LA 115 = /KR 10a
102 KFE + ER 390 R HEL 559 = kG 10a
103 %*ﬁj‘ 390 %HﬂlZiﬂ@rﬁlOa
Mi7%0.4=7KFG10a
104 ESTZ 390 FZih1.4=/KFE10a
Fiz%0.4=7KkFE10a
105 A A4 390 A 1. 181 = k& 10a
106 fx 390 2 Hh2. 1= /KR 10
Ji7%0.4=7kFg10a
107 P 390 R 2F 1. 15H = KR 10a
108 IR 390 FRIRIE 1556 = K G 10a
G ekl 109 KFE + B3 460 FHEHh1.4=7kFE10a
MEF20.4=7KFiE10a
110 7}{41:‘[\’&/' + %*ﬁ 460 FEih1.2=/KFE10a
Ji7%0.4=7kFg10a
111 KFE + WA 460 B 41,188 = ki 10a
112 KA + B 460 Bt 1 =K1 00
JiF%0.4=/KF%10a
113 IKFE + R 460 AL/ 1B = kG 10a
114 KR+ #IK 460 FRIRIEL. 558 = A 10a
Ji%0.4=/Kf%E10a
TR 460 HE#0.4 = KFf10a
117 A A4 460 B /1. 18 = kG 10a
118 ?E% 460 2. 1=/KFE10a
JiF%0.4=/KFH10a
i,
119 ikt 460 AL = A 10a
120 £:J173 460 TR 1558 = /KR 10a
fhe e {3 121 KR+ B 590 T
Miz%0.4=7kFE10a
122 7k*l,l\5/l + %ﬁj 590 FwHh1.2=/KFE10a
Miz%0.4=7kFE10a
123 AKEG + WH4F 590 JE 75 41,188 = K 10a
124 KFE + JEx 590 BEHI2.1=/kFE10a
Miz%0.4=7kFE10a
4 pH,
125 KFG + B 590 AL 118 =K i 10a
126 KFg + #BK 590 IR 5T = K FE10a
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BIFE1 EEYEmE
| TR | IHTRTR 4 X R X 5y TEFEE | F T R FE A R e
(N) KT (a) VEEFE(a) KE(a) 353 (a) St (a) 1EF7(a) A=(8H) K (8H) B EHEY(a) HR) 7213Z(a) sl
BT3¢ B 1) (P % &) (ER) 127 AT 590 BEHL1.2=Kfii10a
Mag%0.4=/KFi10a
198 e FHi1.4=7KFE10a
TR 590 #i3%0.4= 7KK 10a
129 A H 4 590 A 2F1. 158 = /KR 10a
130 fEx 590 2.1 =7KFG10a
Mag%0.4=/KFi10a
Hh
131 W fi: 590 L1 186 = K AG10a
132 E- 373 590 TRIRIEL 55 = /KR 10a
%{ﬁ {IE}DJU 133 7k*@| + E”;z 540 1. 4=/KFE10a
HiF%0.4=7kf%10a
134 USTHRNES 540 gl 2 KR 10
HiF%0.4=7kF&E10a
135 KFg + AA4 540 B 21188 = Kk 10a
136 KFg + fEx 540 BEHI2.1 =7k FG10a
MaF%0.4=/KFi10a
YA Hh
137 IKFE + EE R 540 R4 1188 = /KFF 10a
138 KFE + BK 540 FEIRIE 1555 — K L0a
139 %Eﬂ. 540 ﬁ?éﬂﬂlZ:ﬂ@n/a’lOa
Hiz%0.4=7KFG10a
140 [ BHh1.4=7KFG10a
T 540 Hi720.4= K 10a
141 A4 540 AP 41,188 = ki 10a
142 X 540 FEHh2.1=7KkFE10a
Ji7%0.4=7kFg10a
143 i fE: 540 g2 1L 18 = KFR 10a
144 K 540 IR 1558 = /KA 10a
e {151 145 KR+ B 440 B 4=KE10a
Fiz%0.4=7kFG10a
146 KR+ Rp 440 B2 = Kfii10a
Fiz%0.4=7KkFG10a
147 KFE + WAL 440 JE 41,188 = ki 10a
148 KRG + b= 440 FH12.1=/KFE10a
Ji7%0.4=7kFg10a
149 KFG + BEE 440 RS 15 = /KR 10a
150 KFE + ER 440 FERRIE L5596 = KRG 10a
Ji7%0.4=7kFg10a
152 e 440 FHEM1.4=7KFB10a
Ji7%0.4=7kFg10a
153 A A4 440 B /1. 18 = kG 10a
154 fEx 440 2.1 =7kFE10a
Hiz%0.4=7/KFE10a
EH,
155 g 440 ARELAE1. 188 =K i 10a
156 E-J173 440 HERRIMEL. 556 =k i 10a
il {551 157 G + B3 620 L
Ji%0.4=/KF%10a
158 KFE + Bpst 620 Fwh1.2=/KFE10a
Ji%0.4=/KF%10a
159 KEg + WA 620 B 41,156 = ki 10a
160 7k*l,|¥| + ?Eﬂcg 620 2. 1=/KFE10a
JiF%0.4=/KFH10a
7 EH,
161 KRG + BE 620 BRI 1.1 =k 10a
162 KFE + #BK 620 IR 5T = A FE10a
163 B8 620 BEH1.2=7kFE10a
Miz%0.4=7kFE10a
164 Ef,;ré 620 FEh1.4=/KFE10a
Miz%0.4=7kFE10a
165 A A 4 620 JE 75 41,188 = K 10a
166 Hex 620 FEH2.1=7KFE10a
Miz%0.4=7kFE10a
pH,
167 7.9 620 Pl 41158 = KA 10a
168 B i 620 FEIRIE L 55 = /KR 10a
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GIE 3 W~ S v

g | TETAIAL | IRTTRTA 4 X h R AR X Sy WEEER | F TR E R e B e
(N) 7K F(a) T2 5E(a) K5 (a) 7 3%(a) Rtif(a) 1E7r(a) A(58) R (85) fAEHEY (2) ER) 721X (a) Z D
(B %8 FH T17) 1% H KL 169 TG+ B3 580 BEIL. 4= K E10a
Mi%0.4=7KFi10a
170 IKFE + At 580 FEH1.2=7KFH%10a
Miz%0.4=7KFi%10a
171 KRG + fEx 580 BEHI2.1 =7KFG10a
MiF%0.4=7KF%10a
172 Bk 580 FEH1.2=7KFH%10a
Mi%0.4=7KFi%10a
173 i 35 580 FE1.4=7KF10a
Mi%0.4=7KFi10a
174 x 580 FHh2.1=7KFE10a
MiF%0.4=7KF%10a
dt R L 175 KRG + B3 320 BH14= K 10a
Mi%0.4=7KFg10a
176 KFE + Skt 320 FEH1.2=7KFE10a
Mi7%0.4=7KFg10a
177 KEG + X 390 2.1 =7k FE10a
Mis%0.4=7KFE10a
178 A 320 T 1. 2=7KE10a
MiF%0.4=7KFg10a
179 535 FEHh1.4=7KFE10a
s 320 Hi7%0.4=KFE10a
180 fEx 390 FEHI2.1=7KFE10a
— Miz%0.4=7KF%10a
FATRT Pk 181 KFE + B3 450 Fth1.4=/kFE10a
i 7%0.4=7KFE10a
182 K+ B 450 @H1.2—=AfE10a D
H57%0.4=KFE10a Vi
183 G + fEx 450 B 2.1 =K 10a i
Jiti7%0.4=7/KFE10a &
184 FR 450 FH1.2=7KFE10a +
i F%0.4=7KFE10a &
R 450 Mis%0.4=7KFg10a 'u;
186 e 450 e Hi2.1 = KFE10a 7
- Hi7%0.4=KFE10a B
P sk 187 KG + B 1,000 1A= KFf10a 7€
’ Jiti7%0.4=7/KFE10a S
188 ARG + St 1,000 HEHE1.2= AR 10a &
Jiti7%0.4=7/KFE10a
189 Kiw + 1B 1,000 B 2.1 =K fi# 10a Iz
Hi720.4 = KF10a \_ %
190 %Eﬁ‘ 1,000 FEH1.2=/KFE10a rd *%
Jii7%0.4=7KkF%10a B
191 53 FEHh1.4=7KFE10a =
TR 1,000 Hi720.4= K 10a =
192 Ex 1,000 FH2.1=/KFE10a -
Hi#£0.4= /K F@10a it
4 AL 193 KR+ B 100 B4 =K1 0a =
it F%0.4=/KFE10a e
194 KFE 4+ s 100 .2 =KFE10a 1=
it F%0.4=/KFE10a =
195 KEG + fEx 100 #EHI2.1=7kFE10a Y
Ha0.4=7KF@10a )]
196 B 100 FEHn1.2=7KFF10a 1]
Ji7%0.4=7KkF%10a b
197 i FHEHh1.4=7kFE10a
R 100 0.4 = KFf10a &
198 fEx 100 2.1 =7kFE10a El
Wi720.4=KFH10a )
Il i 199 KT + BF3E 390 AL A KT 00 o
Mi7%0.4=7/KF%10a
200 KFE + Bk 390 FHEHh1.2=7kFE10a
Mi7%0.4=7/KF%10a
201 KEE + fbx 390 Fh2.1=7KkFi10a
Hi7%0.4=7KF%10a
202 L 390 FEH1.2=7KFF10a
Mi7%0.4=7/KF%10a
203 B3 390 FHEHh1.4=7kFE10a
fi7%0.4=7KFH10a
204 fx 390 #EH2.1=7KkHE10a
- - HiF%0.4=7KFf%10a
4 ik 205 KRG + B3 390 B 4= K102
§i7%0.4=7/KF%10a
206 KFE + Bk 390 FHEh1.2=kFE10a
§i7%0.4=7/KF%10a
207 KEE + fbx 390 Feh2.1=7KFi10a
HiF%0.4=7KFf%10a
208 %ﬁj‘ 390 FEH1.2=7KkFE10a
§i7%0.4=7/KF%10a
209 i 390 FHEh1.4=7kFE10a
§i7%0.4=7/KF%10a
910 Hx 290 T 2.1 =7kF10a

Miz%0.4=7KFE10a
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GIE 3 W~ S v

Fedr | THETAAL [ IBTTRTA 4 X h R AR X Sy WEEER | F TR E R TR B
(N) 7K it (a) 1E3¥5E(a) K (a) B 3 (a) Rtif(a) fEH-(a) A(8H) JR(58) fAEHEY (2) E&) 721X (a) Z A,
(BT % ) g K% 211 KFE + P 460 Bkl 4 =Kfiii10a 3
Mi7%0.4=7KFi10a A
212 KFG + At 460 FEHI1.2=/KHE10a
Miz%0.4=7KFi%10a
213 KFg + fEx 460 2.1 =7KFE10a
MiF%0.4=7KF%10a
214 %*ﬁ 460 %iﬂ12:7k$li/3,10a
Mi%0.4=7KFi%10a
915 3 FHI1.4=7KFE10a
R 160 Mi%0.4=7KFi10a
216 fEx 460 2.1 =7KFG10a
MiF%0.4=7KF%10a
e R HiLf 217 KRG + B3 590 #H1.4= /K 10a
Miz%0.4=7KFi%10a
218 KA+ A 590 1. 2= KFE10a X
15720.4 = KF 10a x
219 KFE + fbx 590 2.1 =/KFE10a sl
fifi3%0.4 =7k F%10a &
220 Sk 590 FHh1.2=7KF%10a
Miz%0.4=7KF%10a i
991 i 35 FH1.4=7KFi10a 1%
R 590 Miz%0.4=7KFF10a ,u:.
222 TEx 590 B 2.1 =7k 10a m
— Wazx0.4="7kHg10a =3
] HLi 223 AKEG + B 540 BEMLL 4 =R 10a it
MiF%0.4=7KFG10a =
224 KFE + kst 540 FEH1.2=7KFE10a
" i 7%0.4=7KFE10a 2]
225 KRG + fEx 540 #H2.1 = 7KFf10a =
H5#0.4= /K ff10a \_ Z)
226 FR 540 #EHI1.2=7KHE10a 7 &
MiF%0.4=7KFG10a |54
R 040 Hiz0.4= K 10a L
228 x 540 #2.1=7kFE10a -
- Maz%0.4="7kFg10a )iy
MREF KH 299 KFE + B 440 1A= KFG10a =
Mi7%0.4=7KFG10a s
230 KFE + kst 440 FHEHI1.2=7KFE10a 1=
Mi7%0.4=7KFG10a -
231 KFE + X 440 2.1 =7kFE10a Y
fi7%0.4=7kFH10a )
232 B 440 FEH1.2=7KFE10a [i:1]
JfiF%0.4=/KF%10a *ﬁ
933 3 #EM11.4=7KFE10a
R 440 20,4 — K 10a &
234 fex 440 2.1 =7kFE10a El
: Haz0.4=/kF%10a 5
yibeIl Ak 235 KFG + W 620 L. 4= KFG10a °
Mi70.4=7KFG10a
236 KFEG + g 620 #EHI1.2="7KTE10a
Mi70.4=7KFG10a
237 KRG + fEx 620 FHE2.1="7kFE10a
Mi7%0.4=7KFG10a
238 TR 620 #EHI1.2="7KTE10a
Mi70.4=7KFG10a
239 [i5a 620 FHh1.4=/KFg10a
Mi70.4=7KFG10a
240 fEx 620 2.1 =7kFE10a
Mi7%0.4=/KF%10a V
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GIE 3 W~ S v

Fel | HETR4 | IBTRETR 44 Pk Y=L NP WFER | F % FE 0% e
(N K Fi(a) TE¥E%7E(a) K (a) 3 (a) it (a) {E77(a) =(85) JR (55 EEHEY(a) HO) 72132 (a) ZDfth
04 | PP HT | £ HET A 1) 001 YN 260
002 KEg + B3 260
003 KFG + Femst 260
004 KFG + A 260
005 KFG + LA 260
006 KFg + IEE 4 260
007 KFG + B 260
008 R PER2E 260
R 009 R A MR B L S 72D O E ARSI E R B — R O M X L E A R 52 &
010 TRPERE HERR BN S 720 O = EIFEAN | 8BRS E R 0> 25 PE B3 o0 B RS S FLH AP 365, S/ 1684, IEF 208D BB A B2 52
AR e 1 51) 011 KT 280
012 KFG + B 280
013 KFE + At 280
014 KFg + 16 280
015 KFG + LA 280
016 KFG + mES 280
017 KEE + B 280
018 KFg + HEE 280
019 R PEHZE 260
EH 020 bR TR BN 720 OREE THAEAN, EBIRSE R B — e O X EEEEfi 2 2 52 &
021 T IE R R B LY 720 DR E RS, E RIS E o> 5 2E F3E 0 SRR AL AYEL A =368 , ZAH 1690, IEH 200D & EAA B A 5L
KT e {531 022 KA 340
023 KFm + B3 280
024 KFE + At 280
025 KFg + 16 280
026 AKFE + A4 280
027 KiE + IEE4 280
028 KiE + Zhid 280
029 KFg + HEE 280
030 HRPEHZE 260
HeLak 031 - HiFI] A MERCE LY 720 OR% B HREAS, (B BRI B — I B O X SRS A B 2 D&
032 HE R KR LN Y720 DR E T AEAS BB E R0 5 pE RS 0 S e A S PLHT /3680, 0B 1680, IEF 208D G B 2 2 52 &
EAfAS Al 1) 033 N 370
034 KFG + B3 260
035 KFE A+ e 260
036 KFE + A 260
037 KAE + FLAE 260
038 KfE + BB 260
039 KFG + B 260
040 74 PE R 260
HeLek 041 b B R E N M 720 DR E THEAEAN, EBIRRE R — e O X S E R A 2 52 &
042 FRPERE RERCE LS T2 ORE T FEAN, EBIRE B AR 0> 25 PE B 2 D S E i R ANEL N 213680, Bl 1688, B H 208 DB EE AR 528
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GIE 3 W~ S v

& | HRTR A4 R AR Xy eFEH | & o TR Fa
N) 7K Fiti(a) 1E¥7E(a) Kii(a) #73%(a) Rt (a) fE77(a) A(8R) IR (5H) EREHEY)(a) HOR) 72Tz (a) Z A
05 | MaWih {531 001 I R 200
002 KFG + 72iEs 170 30
003 KFG + B3 170 20
004 KFG + ERAR 110 60
005 KHE + Rt 170 20
006 KA+ Hi = 170 30
007 KFE + A4 170 10
008 KRR+ B 170 7
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yNIEE 2,000.00
KFG + K% K 8,000.00
yNIEE 2,000.00
KEG 4+ TARTHA KA 7,500.00
T AT H A 150.00
KRG + Z~vF¥ + Tryal— KA 3,400.00
Vit 100.00
Tayal— 100.00
K + Fr Y + Tryal— KA 3,400.00
Fp Ly 100.00
Tyl — 100.00
KfE + 27EED + Fr KT 3,400.00
RIEED(EFE) 600.00
Fy Y 100.00




nEE2  HEREAE

Feg | HETAA | IHTRIA 4 RE R X Sy TEEER e BAGT ERE iy
(N) (a)
04 | B[ EF T 31 2 NI 1,500.00
KFE + B 1,000.00
KFG + A 1,000.00
KRG + LW 800.00
& fE: + KA 600.00
W4 + 7K 800.00
HELR 4 Kfg + K& 5,000.00
RS i 31) 2 7K Hg 1,500.00
AKFg + B3 1,000.00
KFG + fbx 1,000.00
KFE + Ll 800.00
=N 600.00
WA + KF 800.00
HELfdk 4 KFg + K& 5,000.00
5] 2 YN 1,500.00
KFg + B3 1,000.00
KFg + fEx 1,000.00
KFg + L 800.00
FE R+ KA 600.00
WA + KFS 800.00
HE 4 KfE + KE 5,000.00
Ain &1 2 K Fii 1,500.00
KFE + B3 1,000.00
KFG + fBx 1,000.00
KRG + LW 800.00
& fE: + K 600.00
W4 + 7K 800.00
HELR 4 Kfg + K& 5,000.00




B2 HiIEmE
Fr | TR 4 | IR TR 4 P I TR EL AR X TEEH e ARt EREY
ON) (a)
05 | JaWT SESU) e 31 i R 330.00
LRk N 2,040.00
B Ak 8531 H— | AR 586.20




nEE2  HEREAE

Feds | HETAA | IATETA 44 P I B IR IX Sy TEEH e ARt EREY
(M) (a)
06 | ZHEfEHT e 1 51) i R 486.49
LA i A 2,529.15




nF2 HAEmRE

Feds | HETAA | IATETA 44 P I B IR IX Sy TEEH e ARt EREY
(M) (a)
07 | #rEh e 1 51) 2 THIFIHROOKTE + KTZZEEE) H 1R 300.00
1 2,200.00
2 98 SR — TR H /E 2,200.00
2 BHIE SR AT OOKTE + BB | A EH# 250.00
it 1,550.00
2 BEHIE SR GTOQOKTE + B | A EH 180.00
{1 1,440.00
2 S B S AT OOKRE + Mk 273 ER(S:0 190.00
{1 1,500.00
2 Mk B REAMOUKRE + MisxB )  |AEH 100.00
i 640.00
2 A H ER(S: 70.00
it 40.00
2 fEEH R ER(S:0 70.00
2 fExEem ER(E:0 190.00
it 1,500.00
2 WA ER(E: 150.00
it 550.00
R 8 THFIRR@OKRE + K& i 10,000.00
5 THIF @ OKRE + 0 L8 3%) it 6,000.00
5 ERHIEF SR B TQUKMG + FEHhlrse)  |fih 4,100.00
5 Mk B A T@KTR + sk Ere)  |fiH 3,440.00
4 SR B — TR (B R A ) ER(S:0 170.00
it 40.00
5 JEPEIM TAARIOKRG + B T) {8 4 3,300.00
6 BIRPEFRMIOKRR + BFELV AN -E5EA) |fiith 3,300.00




B2 HiIEmE
Feds | HETAA | IATETA 44 P I TR EL AR X TEEH e ARt EREY
(M) (a)
08 | FiRif T iy 2B 1 51) KH 355.00
TR TR i 31) KA 441.00
KRR+ EEHE 3 443.00
& 73] KA 267.00
KA + BRI 379.00
JIIR il K 273.00
KA + BRI 548.00
A 511 KFE + #EHEF 3 325.00
KFE + FEA + ERIR 369.00
(g 15311 N 153.00
KA + BRI 420.00
KEG + vray 331.00
B iE 1] KA + EEHER 326.00




nEE2  HEREAE

Fem | TETALA [ IHATETAS 4 X dni e E AR IX 5y R 8 E BART EREiE
ON] (a)
09 | FalET FR)1[HT el 531 NIt 385.00
JEE T et {51 A 187.80
B ik 531 NIt 240.00
=JIFS et {1 N 290.00
5 145.00




B2 HiIEmE
Feg | HETAA | IHTRIA 4 E$i R R IX Sy TEEER e BAGT ERE iy
(N) (a)
10 | =4 =% 1 51) 2 KRG — 1,220.00
KfE + KE 1,220.00
AKFg + B3 710.00
KFG A+ Fept 350.00
AT — 150.00
K+ FRAEAR 350.00
FRAEA L — 150.00
EIK + KFG Tl R e 5558
K Fid 250.00
FE A 9 IKFi B — 5,000.00
* 1) 1.5 IKFBHL— 750.00
KFg + K& 900.00
2 KHg + BEHIER 800.00
KFG + Jaak 820.00
KFG + FEA 530.00
KFG 4 At 370.00
KAE + B IKFH 250.00
LA 3058
HEL Ak 7 KfE + KE 4,500.00
TH 1 51) 1.5 K Fg B — 870.00
KFG + B 420.00
KFG + FeAr 365.00
KFE + 72132 600.00
KA+ BER N 200.00
R PE A 3088
Kfg + B T A I 7088
i 200.00
1 K Fiig L — 600.00
KFG 4 FE= 300.00
KEa + WA K Fiia 350.00
A 1588
KFG + B 130.00
@m%%%%%m@ 0 AR 4,500.00
e 4 K Fiig L — 2,800.00

EEESDHH)




nEE2  HEREAE

Fr | TR 4 | IR TR 4 P I B IR IX Sy TEEH e ARt EREY
ON) (a)
11 ety e 31 2 i R KA 1,500.00
LA 6 i A KA 4,600.00




BF2 BIEEmiE
Fem | WRTA A | IHTHRTA 4 E%i17 AR X EEFE e Gt H A mAg
(N) (a)
12 | s e &1 7K Fig 463.00
kTG + st 343.00




BlF2 HIFmE
&h | TR 4 | IBTTRT R4 X3k R IR EEE K e B at A% i A
ON] (a)
13 i EHT Ak {51 IKFi 414.00
TR+ B3 335.00
FH LT 531 KRR+ SRemst 447.00




BF2 BIEEmiE
Fem | WRTA A | IHTHRTA 4 E%i17 AR X EEFE e A E H A mAg
(N) (a)
14 | #REHR e &1 7K Fig 500.00




B2 HiIEmE
Feds | HETAA | IATETA 44 P I TR EL AR X TEEH e ARt EREY
(M) (a)
15 | R S HH i fE531] KA — 1,600.00
e = H— 200.00
K| + HE 1,500.00
KFG + 700.00
Lk KRG + EE 4,500.00
H L P ik 511 KFE + EA 1,000.00
Lk KRG + EE 4,000.00




B2 HiIEmE
Feds | HETAA | IATETA 44 P I AR X 5y TEEH e ARt EREY
(M) (a)
16 | ST e 1 51) KA 1,650.00
CRE T2 B2 LA HILEZBR <) KA + EEHER 3 1,800.00
KRR+ MEk RS 1,730.00
KEE + A 610.00
KFE + TS 950.00
KFE + A4 700.00
AFE + #K 200.00
Lk Kg + K& 10,000.00
KA + EEHIER 4,100.00
e E J | LA i {531 AKAE + 3R 4,500.00
AKFE A+ st 340.00




BlF2 HIFmE
&h | TR 4 | IBTTRT R4 X3k TR AR X EEE K e B at A% i A
ON] (a)
17 | /MR e 531 KAE 4 BF SRR E) 355.00
LA NI 550.00
T 531 NIt 1,151.00
K + B RRCHRERLE) 350.00
o L ] A {1 51) AR (B2 ) 425.00
K + BFRCRFERE) 287.00




nEE2  HEREAE

Fem | WRTA A | IHTHRTA 4 X 5k LN EEFE & R E A i F
ON) (a)

18 | HiZEIRTHT e & 51 R RE 317.00




B2 HiIEmE
Feds | HETAA | IATETA 44 P I R AR X TEEH e ARt EREY
(M) (a)
19 | fg | sz ET e i 51] K Fif 142.00
KFE + AEAF 305.00
HHL ik BT 621.00
/N T /J‘E\HH;E%I“%ZHET\ (Gl K 120.00
I 18531 KA 118.00
I o
Eﬁﬁﬁ%%‘ 1] Zk; 239.00
jt%iﬁ%?ﬁj;%@\ e T |
AT R KA 398.00
i K e {531 K 228.00
Lk 7K i 2,211.00
JEASAY i {531 K 313.00
Lk YN 962.00
ST e {531 K 344.00
NIRERS 2 E51] YN 210.00




B2 HiIEmE
Feds | HETAA | IATETA 44 Ptk L Y=EENE) TEEH o BT ERENali
(M) (a)
20 | FEfavETH e 151 ALk K Fif 1,000.00
KFG + B 900.00
KA+ hak = 900.00
KFG + B 400.00
AKFE + B 200.00
KiE + &0z 300.00
AKFE A+ st 500.00




BF2 BIEEmiE
Fem | WRTA A | IHTHRTA 4 E%i17 R A X EEFE e A E H A mAg
(N) (a)
21 | GHRHET e &1 7K Fig 196.00
(ZE., =252 E) KRG + BF3E 248.00




nEE2  HEREAE

Feds | HETAA | IATETA 44 P I L Y=EENE) TEEH e ARt EREY
(N) (a)
22 | +HHETH e 1 51) YN 1,200.00
ARG (LI ] 1 4550) 700.00
YN &) 500.00
KFG + B 640.00
KFE + FEH(DD) 680.00
KFE + EE 200.00
KFg + R 560.00
KFG + 72z 150.00
KFG + BHELV AN 600.00
Rl X HE— 330.00
Lk Kfw + 0% 4,000.00
KA +KE., 2, BENT 4,000.00
AKFE + 4,300.00




BlF2 HIFmE
FE | HETA 4 | TR 4 X3k TR AR X EEE K e B at A% i A
N (a)
23 | HERgES ES fE531] KRR+ K& 463.00
TR+ B3 582.00
KAE + BT 533.00




nEE2  HEREAE

Feds | HETAA | IATETA 44 P I TR EL AR X TEEH e ARt EREY
(M) (a)
24 | AR e 1 51) LS 370.00
i S 236.00
ot 1 51) KA 465.70
Fr; 73] KA B — 1,092.00
e 531 KA 175.00
LT3 il KA B — 200.00
& 531 IR B — 842.00
i5E S i 31) IKAR B — 243.00
B iE51] KRG E 85.00
BULES {531 KR AR E 527.00
#) &1 KA AR E 42.00
[l aB 5311 KT AL 1,249.00
i iE 1] IKFBHE G 336.00
Jefisa 5311 IR A B 570.00
. {51 KEGE AR E 305.00
S 15311 KT AL 438.00
i £ i 51) KFEE AR 125.00
Fe fifi A1 {8531 KRR E 159.00




B2 HiIEmE
Feds | HETAA | IATETA 44 P I TR EL AR X TEEH e ARt EREY
(M) (a)
25 | ARIAE e 1 51) KH 1,750.00
KFG + B 1,500.00
HHL ik KFG + KE 5,300.00
KFG + B 3,000.00




B2 HiIEmE
Feds | HETAA | IATETA 44 P I R AR X TEEH e ARt EREY
(M) (a)
26 | b gze o] e 1 51) KRG+ KE + SRS 200.00
TV AT Ty {51 KFE+ KE + BEHiEESE + 67 560.00
KHE + MRkEre + 1B 512.00
KEE + A 360.00
H LT 531 KFE + 2+ IO + FARA + HE 320.00
KFE + i+ BN+ FE 256.00
KEFf Eeeis 531 K Fii 237.00
ks A i 31) KA 292.00
Fililiar T i iE51] KFG + KRE., 2T 452.00
RIHT A {531 KFE 4+ KE 564.00
KA + BRI 708.00
HELA% KFE + EEHIERSE + B 6,426.00
KA+ MexErk + B 2,511.00
BAS A {531 KFG + Z-Ku 695.40
KA + Jiak B3 806.70
L KFE + R, Mk B3, 50T 2,344.08
Bl e &1 YN 200.00
HHL i KA 2,000.00
HAR A e i 31) YN 200.00
BOEHT | — DXIRCES) D 2 8 531] KA 176.00
Lk KA 6,593.00
15 B B A fE531] i 120.00
= Fnff 2 i 731) KA 660.00
bkt A Hi i 51) KA 584.70
KEg + JafE 829.00
ﬁfgﬁﬁ% {1 51) KA 580.00
A NEHT e {531 K 94.00
Lk IKFi 582.00




nEE2  HEREAE

Feds | HETAA | IATETA 44 P I B IR IX Sy TEEH e ARt EREY
(M) (a)
27 | Wt | Wmm ey e fE531] KA 154.00
WA e i 31) KA 348.00
KFE + B3 485.00
B e 73] KA 229.00




B2 HiIEmE
Feds | HETAA | IATETA 44 P I B IR IX Sy TEEH e ARt EREY
(M) (a)
28 | ScfllTh e I 531] - 4EL Ak KFG A+ ik 2= 160.00
KA+ R == 247.00
KA 330.00




nF2 HAEmRE

Fr | TR 4 | IR TR 4 P I PR E AR Ky TEEH e ARt A i
(M) (a)
29 | e e 1 51) KH 1,200.00
KFE + R 1,150.00
KRR+ EEHE 3 970.00
At 230.00
KFG + B 1,550.00
KRG+ BG4 950.00
(74 Jﬂ{ﬁ” FpE) KAE + KE 3,800.00
(@gﬂﬂ@%@ﬁ o) KA + R HER S 2,580.00
G M ) AR 2,600.00

() SORIED O, BEE RSO HIRRI=2 L, S0, RERTES I ORE A 50 P IR 0. 0 H R OREBA L I L
T\ /,_i’ o




